TITLE: DIMENSIONAL DRAWING, 2440L
INTELLITOUCH/ NO TOUCH MODEL
M4 THREAD,
MAX. SCREW DEPTH 7mm FROM
MOUNTING SURFACE. X6
561.6 = =422 ——
— 100 —|= 100 ——
523.3 245 =
BEZEL OPENING
I TS ST @ ol_—1— Jo ® — [|[& =AY
El | — == o
521.28 = ) [ ) q
ACTIVE AREA
295.2 o |
BEZEL OPENING i @
© ©
293.22 C@ I ]]D — ﬂﬂ[
ACTIVE AREA —
- - - = = = — b - - ~ ~ — — - - 325.8 + @ |- 75 ) | 100 (
@ ) * r
@ ©
\
mif| % [@] I—0I—0T Jo| [ w
=
@) D) oo Safety Label N oo {
| V — | ; o — S
L) A () . (] = EO OE = L . ) R
SIDE MOUNT,
TERTICAL VESA MOUNT
RIGHT/LEFT
| ;
+ 245
o Lo} = —————o~ {2 Lod—o~ DC POWER INPUT:
| (- EE) @) 4X BARREL ID =6.4mm
| PIN OD = 2.0mm
| M4, MAX SCREW DEPTH = 6 BARREL DEPTH = 8.5mm
— S , =omm =
75 260 75 S— X12 |NPUT VOLTAGE - 12V DC u o 5% USB TOUCH SCREEN OUTPUT
SIDE MOUNT, DVI-D VIDEO INPUT
HORIZONTAL, SERIAL INPUT
TOP/BOTTOM (UNDER COVER)
i i i — 7 ‘ I
ol - @ " o |
L = . L ﬁ:
MENY < > seweer O
O [[O) (O] O] [O)D VGA VIDEO INPUT SECTION |O-10
a1 e SCALE 11
RJ45 FOR OSD
OSD REMOTE P/N E483757
(INCLUDED WITH TOUCH MONITOR)
glo
MS601496
DIMENSIONS ARE IN MILLIMETERS SHEET 1 OF 6 DATE:  12/18/2015
REV: E




344.

TITLE:

DIMENSIONAL DRAWING, 2440L

INTELLITOUCH/ NO TOUCH MODEL

MOUNTING WITH ADJUSTABLE BRACKETS (6 PROVIDED)

16.4, x6

580.4
90 245 = 90 — =
M4 THREAD
X6
10 —= = = 70
)5 THRU. HOLES
X6
Z o &b D & ‘ o & e e
\
6 &
D
295, — —~ -~ - -~ - — —~ -~
D
(&5
V o &b D & o & e e

RECOMMENDED CUSTOMER PANEL CUT-OUT

523.9

DIMENSIONS ARE IN MILLIMETERS

—
;/‘

l—
‘\1

594.4
—— 105, x6  —
oL 0.0 o 0.0
D= ©5 ol B ol_"—" Jo = 185 - B5 5T
\
—
. .
o) lee
<> ] >
) { 358.6
il (e
HH [ JI0 T"——-210 1 Iw
ﬁ <
) 0o Safety Label N o q
S =
4 ( ) — T
e Ll = @=¢ =0 - o o &
O © ©@ O o © © O

TE MOUNTING BRACKET ADJUSTMENT RANGE
-1 TO 18 (X6 PLACES)

SHEET 2 OF 6

MS601496

DATE:

12/18/2015

REV: E




TITLE: ~ DIMENSIONAL DRAWING, 2440L

OPITIONAL FRONT MOUNT BEZEL KIT P/N E000880
INTELLITOUCH AND NO-TOUCH MODELS ONLY
(ORDERED SEPARATELY, CUSTOMER ASSEMBLED)

605.3 =
595 46.6
b s
@  S—
| C
369.5 L
297
365 il
L C
7
[©)
Elo ] | %

FRONT MOUNT BEZEL

591.3

235

100 —=

574.3

338.5

355.5

RECOMMENDED CUSTOMER PANEL CUT-OUT

DIMENSIONS ARE IN MILLIMETERS

- 100

R5
X4

MOUNTING HOLES, X12
1. IF CUSTOMER PANEL IS WOOQOD,
)4 5MM THRU HOLES FOR M4 SCREWS WITH NUTS

2. IF CUSTOMER PANEL IS SHEET METAL,
CONCEALED HEAD THREADED STUDS M4 WITH NUTS

FRONT MOUNT ASS'Y

2440 MONITOR

CUSTOMER PANEL

FRONT MOUNT PANEL BRACKETS X6
(INCLUDED WITH FRONT MOUNT KIT)
BRACKETS ACCOMODATE PANEL THICKNESS =5 TO 22 MM

MS601496

SHEET 3 OF 6 DATE:  12/18/2015

REV: E




TITLE: ~ DIMENSIONAL DRAWING, 2440L

PROJECTED CAPACITIVE MODELS ONLY

[0

563.5
569.2 EDGE OF BEZEL e 210 -
{ 3.3 FOAM SEAL (ALL AROUND)
R I e ZF e °J _ e @ 10 [0 e dI
i © i o o =]
x 53.3
)
= 523.28 e
ACTIVE AREA | | 100 — 100
335.42 H
ID: —
\ | © © ©
©)
295.22 | — =
ACTIVE AREA 205
341.1 344.2 I 100
EDGE OF BEZEL
| o
f all ©
|4 m
zij [6] [ TOT—N Jol | 7] |
=
Safety Label N oo
z =
1S o — — _ @@ @M _ ﬁ‘ ‘Q
X - (9 ® | ' © (o) o) )
R7.7 , X4
(BEZEL CORNER)
M4 THREAD,
MAX. SCREW DEPTH 7mm FROM
MOUNTING SURFACE. X6
M4 THREAD,
MAX. SCREW DEPTH 7mm FROM
MOUNTING SURFACE X12
VESA MOUNT
| )
18.8
| E%E N a N ;_ - 37.3
§ic 4X i

DIMENSIONS ARE IN MILLIMETERS

MS601496

SHEET 4 OF 6 DATE:

12/18/2015

REV: E




TITLE:

DIMENSIONAL DRAWING, 2440L

2440 iTouch Open-Frame ZB / NO TOUCH ZERO BEZEL

570.1
EDGE OF SCREEN

{77 2.9 FOAM SEAL (ALL AROUND)

522.28
ACTIVE AREA

294.22
ACTIVE AREA

342.5
EDGE OF SCREEN

\S A x
R8.2 , X4
=T 7= 198 A
= — - — N = 38.3
§ic } 0

DIMENSIONS ARE IN MILLIMETERS

53.3

205

335.

563.5
— 15 — = 210 —— 75 —=
S —— =B 0 _ ® ~© (0 10 e )\
Ch i o | [ o =
[ 1
100 = 100
© © © i
O
[
100 75
@
©
% [ M—TT—T Tg[ U I H]
=
0o Safety Label N 0o
S 2
W‘q_/szc \ = EO OE e \ [ \ ‘
i o1 (g — ®_ T®  [(0) o) e dr)
M4 THREAD,
MAX. SCREW DEPTH 7mm FROM
MOUNTING SURFACE X6
M4 THREAD,
MAX. SCREW DEPTH 7mm FROM
MOUNTING SURFACE X12
VESA MOUNT
glo
MS601496
SHEET 5 OF 6 DATE:  12/18/2015

REV: E




Vs

K@ TITLE: ~ DIMENSIONAL DRAWING, 2440L
E—

PROJECTED CAPACITIVE/ITOUCH/ & @
B
——

NO TOUCH ZERO BEZEL MODELS
| :]( P JV - \ | 1 \
FE >W N jL \\\ \ \ ‘ “

FLUSH MOUNTING x12 | | 1
- > L 1 K
/ ﬂ I = it BT I
g ., P / | \ | | \ |
\N FOAM SEAL \ | \ \\ | \ | \
FOAM SEAL PCAP TOUCH SCREEN 'TOUCH SCREEN ’ \

F —
/78

L,

(RECOMMENDED OFFSET OF
TOUCH SCREEN SURFACE)

il

%

/

SECTION A-A
SCALE 2:1

SECTION A-A
SCALE 2:1

FLUSH MOUNT INSTALLATION NOTES:

1. ATTACH BRACKET "A" TO CUSTOMER PANEL "C" PER DRAWING

2. ATTACH BRACKET "B" TO BRACKET "A" WITH M4 SCREWS "B-1"( INCLUDED)

3. PLACE TOUCH MONITOR INTO CUSTOMER PANEL OPENING,TAKING CARE NOT TO DAMAGE FOAM SEAL

4. ADJUST DEPTH OF BRACKETS "B" SO MONITOR IS FLUSH WITH CUSTOMER PANEL FOR PCAP,
SLIGHTLY PROUND OF CUSTOMER PANEL ABOUT 1MM FOR ITOUCH

5. SECURE TOUCH MONITOR TO BRACKET "B" +"A" FROM BEHIND WITH M4 SCREWS "C-1" (INCLUDED)

RECOMMENDED CUSTOMER PANEL CUT-OUT / 604.7
594.7
A _® LO ] (o J [ 1 o] Lo ®__ AN
T jL = = o ———J o —
<+ <+ <+ <+
! At / | |
10.5+0.1 R10 + 0.2 H
X4 — MOUNTING HOLES, X8 =
IF CUSTOMER PANEL IS METAL, A A
BLIND HOLE, M4 THREADS ZF o ﬂx o
—— 10.5+0.1 I
345.640.2 10.540.1 = ER
&
366.6
| @ G
- - - - - - - - - - - - 60 376.6
° o 1t H]
[ I T—2 1 HJ
573.7+0.4 ( | \
-
0o Safety Label N 0o
CUSTOMER PANEL: L —— — - —— ———
MIN THICKNESS = 3 MM \ — = L J 2 — )
MAX THICKNESS = 9 MM
10.5+0.1
. g p

" + & & \
X12 I
Lfao — = 225 60 % E ﬂ

MS601496

DIMENSIONS ARE IN MILLIMETERS SHEET 6 OF 6 DATE:  12/18/2015

REV: E




	Sheet 1
	Views
	new_view_1
	right_2
	right_3
	bottom_4
	bottom_6
	new_view_7


	Sheet 2
	Views
	new_view_9
	bottom_10
	new_view_11


	Sheet 3
	Views
	new_view_14
	new_view_15
	new_view_16
	right_17


	Sheet 4
	Views
	new_view_20
	right_21
	right_22
	bottom_23


	Sheet 5
	Views
	new_view_36
	bottom_37
	right_38
	right_39


	Sheet 6
	Views
	new_view_25
	new_view_28
	new_view_30
	bottom_33
	new_view_40
	new_view_51
	new_view_52
	new_view_53



